T or F?

1.In a dynamic PK model, an increase in the autonomous saving of capitalists leads to a decline in the contemporaneous CB’s interest rates (in case these are positive).

2. Consider Minsky. The rising investment during expansions leads to increases in the return of businesses’ equity and even more in the return of businesses’ assets. The reason is that rising investment leads to rising aggregate demand.

3. If the level of aggregate demand is below the production capacity, it determines the level of production which, in turn, determines the income that is distributed.

4. In fixed rates, a decline in exports has several consequences. One of them is a reduction in consumption.

5. Consider fixed rates and start from both internal and external equilibrium. According to both Mundell’s and Hume’s mechanisms, a trade deficit resulting from a decline in external demand will be eventually eliminated. 
6. Consider fixed rates and start from both internal and external equilibrium. One effect of a decline in exports is reduction in the amount of reserves of foreign currency held by the CB
 7.Consider fixed rates and start from both internal and external equilibrium. One effect of a decline in exports is reduction in the amount of reserves of foreign currency held by the CB but by less than the value of the trade deficit.

8. Consider fixed rates and start from both internal and external equilibrium. A trade deficit year after year (resulting from a decline in exports) will become unsustainable well before the foreign currency reserves of the country’s CB evaporate and foreign banks cease to be willing to finance the country’s trade deficit.

9. A devaluation of currency may increase inflation.
10. Consider a country with fixed rates, initially in ‘full-equilibrium’, that suffers a substantial decline in domestic demand. The resulting trade surplus may increase the quantity of savings deposits by the exact amount of that surplus.
